
 

fzpjk; 1 juk; - 10 (tpil) 
 

 

khfhzf; fy;tpj; jpizf;fsk;  

tlf;F khfhzk; 
 

Mz;L ,Wjpg; guPl;ir - 2017 

 

   

gFjp - I A 

01) 9×4
3

= 12 𝑐𝑐𝑐𝑐 (2) 

02) 𝑥𝑥 = 50°  (1) 

𝑦𝑦 = 105°  (1) 

03) tl;b= 32500 × 10
100

 

nkhj;jk; = 32500 + 3250 

 =&gh35750 (1) 

04) 𝑥𝑥2 + 5𝑥𝑥 + 3𝑥𝑥 + 15 (1) 

(𝑥𝑥 + 5)(𝑥𝑥 + 3) (1) 

05) 𝑐𝑐 = 12
6

= 2  (1) 

𝑦𝑦 = 2𝑥𝑥 − 5 (1) 

06) {2, 3, 5, 7, 11} (1) 

07) 48.40 + 0.52 = 48.92 (2) 

08) 3
𝑥𝑥−3

− 2
𝑥𝑥−3

 (1) 

1
𝑥𝑥−3

 (1) 

09) 45
360

× 22
7

× 14 × 14 𝑐𝑐𝑐𝑐2 (1)  

= 77 𝑐𝑐𝑐𝑐2 (1) 

10) ∆ 𝐷𝐷𝐷𝐷𝐷𝐷 ≡ ∆ 𝑃𝑃𝑃𝑃𝑃𝑃 (Nfh.g.Nfh) (1)  

11) 3600
300

= 12ℎ  (2) 

12) 2𝑥𝑥 ≥ 2 (1) 

𝑥𝑥 ≥ 1 (1) 

 

 

13) i) 𝐴𝐴𝐷𝐷 = 16
2

= 8 𝑐𝑐𝑐𝑐 (1) 

ii) 70 + 70 = 140° (1) 

14) 8 ×6 ×2
8

= 12 kdpju;fs; (2) 

15) 𝑥𝑥 + 2 = 7 (1) 

𝑥𝑥 = 5 (1) 

16) 𝐵𝐵𝑂𝑂�𝐶𝐶 = 70° (1) 

𝑂𝑂𝐵𝐵�𝐶𝐶 = 55° (1) 

17) 3𝑛𝑛 − 1 = 92 (1) 

3𝑛𝑛 = 93  

𝑛𝑛 = 31 (1) 

18) i) 𝐵𝐵𝐷𝐷2 = 252 − 152 = 202 (1) 

 𝐵𝐵𝐷𝐷 = 20 𝑐𝑐𝑐𝑐  

ii) 30 ×40
2

= 600 𝑐𝑐𝑐𝑐2 (1) 

19) 2𝑎𝑎(2𝑎𝑎 − 3) + 7(2𝑎𝑎 − 3) (1) 

=  4𝑎𝑎2 + 8𝑎𝑎 − 21 (1) 

20) i) 34 = 𝑥𝑥 (1) 

ii) 𝑥𝑥 = 81 (1) 

21) i) 𝐴𝐴𝐷𝐷 = 1
2

 𝐴𝐴𝐵𝐵 (1) 

ii) 𝐴𝐴𝐵𝐵 = 2 × 10 = 20 𝑐𝑐𝑐𝑐 (1) 

22) 3
10
 (2) 

 

23) fdtsT= 24 × 20 = 480 𝑐𝑐𝑐𝑐3 (2) 

24) 9𝑥𝑥 = 180° (1) 

𝑥𝑥 = 20°  

4𝑥𝑥 = 80° (1) 

25)  

(2) 

 

  

fzpjk; 
juk; - 11 

tpilfs; juk; :- 10 

𝑨𝑨 𝑩𝑩 

𝑪𝑪 

𝟑𝟑.𝟓𝟓 𝒄𝒄𝒄𝒄 𝟑𝟑.𝟓𝟓 𝒄𝒄𝒄𝒄 

−𝟔𝟔 −𝟓𝟓 −𝟒𝟒 −𝟑𝟑 −𝟐𝟐 −𝟏𝟏 𝟎𝟎 𝟏𝟏 𝟐𝟐 𝟑𝟑 𝟒𝟒 𝟓𝟓 𝟔𝟔 𝟕𝟕 
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gFjp - I B 
vy;yhtpdhf;fspw;Fk; tpilaspf;Ff. 

01)  

(i) fij=  1
5
 

kPjp=  4
5
 

ghltplaq;fs; =  4
5

× 2
3

= 8
15
 ................................................................................................................  (2) 

(ii) vQ;rpaJ
4
5
− 8

15
= 4

15
 

ftpij= 4
15

× 1
4

= 1
15
 ................................................................................................................................  (3) 

(iii) VidaGj;jfk; = 4
15
− 1

15
 

  = 3
15
 

  = 1
5
 ..........................................................................................................................  (3) 

(iv) 1
5
 gq;F = 450 

KOg;Gj;jfq;fs; = 2250 ......................................................................................................................  (2) 
02)  

(i) tis gug;G= 2𝜋𝜋𝜋𝜋ℎ ..................................................................................................................................  (2) 

(ii) 𝜋𝜋 = 528
2𝜋𝜋ℎ

 

 = 528×7
2×22×12

 

 = 7 𝑐𝑐𝑐𝑐 .................................................................................................................................................  (3) 

(iii) 1 tl;lg;gug;G = 22
7

× 7 × 7 

  = 154 

2 tl;lg;gug;G = 154 × 2 

  = 308 𝑐𝑐𝑐𝑐2 .................................................................................................................  (3) 

(iv) nkhj;jNkw;gug;G = 528 + 308 

  = 836 𝑐𝑐𝑐𝑐2 ...........................................................................................................  (2) 

03) (a)  

(i) 1 Mz;Ltup = 360 × 4 

 =&gh1440 .......................................................................................................  (2) 

(ii) tuptpjk; = 1440
18000

× 100% 

 = 8% ..................................................................................................................  (2) 

(iii) 1 Mz;Ltup = 440 × 4 

 = 1760&gh ......................................................................................................  (2) 

Mz;Lg; ngWkhdk;  = 100
8

× 1760 

 = 22000 &gh .................................................................................  (2) 

(b) jPu;itAld tpiy = 4500 × 118
100

= 53100 &gh ………………………………………..  (2) 
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04) m)    ..................................................................................................  (2) 

 

 

 

 

 

 

M)  

(i) 4
24

/ 1
6
 ...................................................................................................................................................  (2) 

(ii) 3
24

/ 1
8
 ...................................................................................................................................................  (2) 

(iii) 12
24

/ 1
2
 ...................................................................................................................................................  (2) 

(iv) 6
24

/ 1
4
 ...................................................................................................................................................  (2) 

05)  

(i) 360° − 310° = 50° ...................................................................................................................................  (1) 

(ii) 40° = 8 Ngu; 

10° = 2Ngu; 

rJuq;fk;  = 14 Ngu; 

fpupf;nfl; = 18 Ngu; 

cijge;J = 30 Ngu; 

fuk; = 10 Ngu; ................................................................................................................................  (4) 

(iii) 14
72
  .............................................................................................................................................................  (2) 

(iv) 26
80

× 360 = 117°> tpil 27° ...............................................................................................................  (3) 

  

𝟏𝟏 𝟐𝟐 𝟑𝟑 𝟒𝟒 𝟓𝟓 𝟔𝟔 

𝟏𝟏 

𝟐𝟐 

 

𝟑𝟑 

𝟒𝟒 

× × × × × × 

× × × × × × 

× × × × × × 

× × × × × × 
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gFjp - IIA 
tpUk;gpa Ie;J tpdhf;fSf;F kl;Lk; tpiljUf. 

01) (a)  

(i) tl;b =&gh 93000 −&gh75000 
 =&gh18000 .......................................................................................  (2) 

(ii) 1 Mz;Ltl;b =&gh 6000 ......................................................................................  (1) 

(iii) &gh100 f;F 1 Mz;L tl;b = 6000
750

 

  = 8&gh ...........................................................  (2) 
(iv) tl;btPjk;  = 8% ...............................................................  (1) 

(b) (i) vspatl;b = 50000 × 2 1
2

× 8
100

 

   =&gh10000 .........................................................................................  (2) 
 (ii) fld;njhif =&gh 60000 .......................................................................................  (2) 

02)  

(a) (i) 𝑦𝑦 = 5 ...................................................................................................................................  (1) 
(ii) tiuG ..................................................................................................................................  (3) 
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(b)  

(i) 𝑥𝑥 = 0 ...................................................................................................................................  (1) 

(ii) (0,5) ....................................................................................................................................  (2) 

(iii) 0 < 𝑥𝑥 < 1.6 ......................................................................................................................  (1) 

(c) 3 
03)  

(i) 3𝑥𝑥 − 2𝑦𝑦 = 2𝑦𝑦 + 4 

3𝑥𝑥 − 4𝑦𝑦 = 4 ................................................................................................................................  (2) 

(ii) 2(3𝑥𝑥 − 𝑦𝑦) = 56 

3𝑥𝑥 − 𝑦𝑦 = 28 ................................................................................................................................  (2) 

(iii) (2) − (1)  3𝑦𝑦 = 24 
     𝑦𝑦 = 8 
   3𝑥𝑥 = 36 
      𝑥𝑥 = 12 .........................................................................................................  (2) 

ePsk; = 20 𝑐𝑐𝑐𝑐 

mfyk; = 8 𝑐𝑐𝑐𝑐 ..........................................................................................................................  (2) 

(iv) gug;gsT = 20 × 8 

 = 160 𝑐𝑐𝑐𝑐2 .............................................................................................................  (2) 

04) (i) 8
2(𝑥𝑥−3)

+ 1
2(𝑥𝑥−3)

 = 9
8
 

 
9

2(𝑥𝑥−3)
 = 9

8
 

 2(𝑥𝑥 − 3) = 8 
 𝑥𝑥 − 3 = 4 
 𝑥𝑥 = 7 ................................................................................................................  (3) 
(ii) 𝑥𝑥2 − 3𝑥𝑥 = 2𝑥𝑥 + 6 
 𝑥𝑥2 − 5𝑥𝑥 − 6 = 0 
 (𝑥𝑥 − 6)(𝑥𝑥 + 1) = 0 
 𝑥𝑥 = 6 my;yJ 𝑥𝑥 = −1 ...........................................................................................................  (4) 
(iii) (𝑥𝑥 − 𝑦𝑦)2 =  𝑥𝑥2 + 𝑦𝑦2 − 2𝑥𝑥𝑦𝑦 
  = 30 − 14 
  = 16 ............................................................................................................................  (3) 
 𝑥𝑥 − 𝑦𝑦 = 4 

05)  

(a)  

(i) 1
2

× 8 × 14 = 56 𝑐𝑐𝑐𝑐2 .....................................................................................................  (2) 

(ii) 56 × 33 = 1848 𝑐𝑐𝑐𝑐3 ....................................................................................................  (2) 
(b)  

(i) 20 × 3
5

= 12 𝑐𝑐𝑐𝑐 ...............................................................................................................  (1) 

(ii) 22
7

× 𝜋𝜋2 × 12 = 264𝜋𝜋
7

2
𝑐𝑐𝑐𝑐3 ............................................................................................  (2) 
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(iii) 264𝜋𝜋
7

2
 = 1848 

 𝜋𝜋2 =  7×1848
264

 

 𝜋𝜋2 =  7 × 7 
 𝜋𝜋 = 7 𝑐𝑐𝑐𝑐 ..................................................................................................................  (3) 

06)  

(i) 150 Ngu; 

(ii) 33 − 43 
(iii)  

tFg;ghapil e.ng. (𝑥𝑥) tpyfy; (𝑑𝑑) kPbwd; (𝑓𝑓) ngUf;fk; (𝑓𝑓 × 𝑑𝑑) 
0 − 10 5 −33 12 −396 

11 − 21 16 −22 10 −220 
22 − 32 27 −11 8 −88 
33 − 43 38 0 35 00 
44 − 54 49 +11 20 +220 
55 − 65 60 +22 29 +638 
66 − 76 71 +33 24 +792 
77 − 87 82 +44 7 +308 
88 − 98 93 +55 5 +275 
nkhj;jk;   150 −704 + 2233 

    1529 
,il = 38 + 1529

150
 

 = 38 + 10.1 
 = 48 ...............................................................................................................................  (2) 

(iv) 120
150

× 100 = 80% .......................................................................................................................  (2) 

(v) 150 × 24
100

= 36 Ngu; 

65 Gs;spapYk; $Ljyhd Gs;spfisg; ngw;wtu;fs;. ...............................................  (2)  

gFjp - IIB 
07)  

(i) 7 𝑐𝑐𝑐𝑐, 11 𝑐𝑐𝑐𝑐, 15 𝑐𝑐𝑐𝑐 ...................................................................................................................  (2) 

(ii) 𝑆𝑆𝑛𝑛 =  𝑛𝑛
2

{2𝑎𝑎 + (𝑛𝑛 − 1)𝑑𝑑} 

900 =  𝑛𝑛
2

{14 + (𝑛𝑛 − 1)4} 

900 =  𝑛𝑛 (7 + 2𝑛𝑛 − 2) 

𝑛𝑛(2𝑛𝑛 + 5) = 900 

2𝑛𝑛2 + 5𝑛𝑛 − 900 = 0 
2𝑛𝑛2 + 5𝑛𝑛 − 40𝑛𝑛 − 900 = 0 

(2𝑛𝑛 + 45)(𝑛𝑛 − 20) = 0 
𝑛𝑛 = 20 

Jz;Lfspd; vz;zpf;if= 20 ..............................................................................................  (6) 

e.ng. - (1) 

tpyfy; - (1) 

ngUf;fy; - (2) 
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(iii) filrpj; Jz;bd; ePsk; = 4𝑛𝑛 + 3 

  = 83 𝑐𝑐𝑐𝑐 ...................................................................................  (2) 
08)  

(i) 𝐴𝐴𝐷𝐷�𝐷𝐷 = 𝐷𝐷𝐷𝐷�𝐶𝐶[𝐴𝐴𝐷𝐷�𝐶𝐶 ,d; ,U$whf;fp] 

𝐴𝐴𝐷𝐷�𝐷𝐷 = 𝐷𝐷𝐷𝐷�𝐶𝐶 [𝐴𝐴𝐵𝐵//𝐷𝐷𝐶𝐶 x. tp. Nfh] 

/ 𝐴𝐴𝐷𝐷�𝐷𝐷 = 𝐴𝐴𝐷𝐷�𝐷𝐷 (nt.c) 

∆ 𝐴𝐴𝐷𝐷𝐷𝐷 ,y; ,Urkgf;f ∆ Njw;wg;gb 𝐴𝐴𝐷𝐷 = 𝐴𝐴𝐷𝐷 MFk;. ..........................................  (3) 

(ii) ,t;thNw𝐷𝐷𝐵𝐵�𝐷𝐷 = 𝐷𝐷𝐵𝐵�𝐶𝐶 [𝐴𝐴𝐵𝐵�𝐶𝐶 ,d; ,U$whf;fp 𝐵𝐵𝐷𝐷] 

 𝐷𝐷𝐵𝐵�𝐷𝐷 = 𝐵𝐵𝐷𝐷�𝐶𝐶 [𝐴𝐴𝐵𝐵//𝐷𝐷𝐶𝐶 x.tp.Nfh] 

∆ 𝐵𝐵𝐶𝐶𝐷𝐷,y; ,Urkgf;f ∆ Njw;wg;gb 𝐵𝐵𝐶𝐶 = 𝐶𝐶𝐷𝐷 .............................................................  (2) 

(iii) 𝐴𝐴𝐷𝐷 = 𝐴𝐴𝐷𝐷 (ep.g.) 

𝐶𝐶𝐷𝐷 = 𝐵𝐵𝐶𝐶(ep.g.) 

Mdhy; 𝐴𝐴𝐷𝐷 = 𝐵𝐵𝐶𝐶 (,iz. v. g) 

/ 𝐴𝐴𝐷𝐷 = 𝐶𝐶𝐷𝐷 (nt.c) ................................................................................................................  (2) 

 

(iv) 𝐴𝐴𝐵𝐵 = 𝐶𝐶𝐷𝐷 (,iz. v.g) 

𝐴𝐴𝐷𝐷 = 𝐶𝐶𝐷𝐷 (ep. g) 

𝐴𝐴𝐵𝐵 − 𝐴𝐴𝐷𝐷 = 𝐶𝐶𝐷𝐷 − 𝐶𝐶𝐷𝐷 

𝐷𝐷𝐵𝐵 = 𝐷𝐷𝐷𝐷 

Mdhy; 𝐷𝐷𝐵𝐵//𝐷𝐷𝐷𝐷 (juT) 

/ 𝐷𝐷𝐷𝐷𝐵𝐵𝐷𝐷Xu; ,izfuk; (xUNrhbv.g. =,//) .................................................................  (3) 
 

09)  

(i) 𝑃𝑃𝐴𝐴𝑃𝑃 = 90 − 𝑥𝑥 (∆,f; mf.Nfh.$) ...................................................................................  (1) 

(ii) 𝑃𝑃𝑂𝑂𝐵𝐵 = 2 𝑃𝑃𝐴𝐴𝑃𝑃 (ik.Nfh=2 gup.Nfh) 

 = 2(90 − 𝑥𝑥) 

 = (180 − 2𝑥𝑥) ................................................................................................................  (2) 

(iii) 𝑂𝑂𝑃𝑃𝐵𝐵 =  180−(180−2𝑥𝑥)
2

 [𝑂𝑂𝑃𝑃 = 𝑂𝑂𝐵𝐵] 

 = 𝑥𝑥 ....................................................................................................................................  (3) 

(iv) 𝐴𝐴𝑃𝑃𝑃𝑃 = 𝑂𝑂𝑃𝑃𝐵𝐵 = 𝑥𝑥 

(v) 𝑃𝑃𝐴𝐴𝐵𝐵 = 90° − 𝐴𝐴𝑃𝑃𝑃𝑃 

 = 90° − 𝑂𝑂𝑃𝑃𝐵𝐵 

 = 90° − 20° 

 = 70° ................................................................................................................................  (2) 

𝑨𝑨 𝑬𝑬 𝑩𝑩 

𝑪𝑪 𝑭𝑭 𝑫𝑫 
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10)  

(i) ∆ 𝐾𝐾𝐾𝐾𝐾𝐾 ............................................  (3) 

(ii) 𝐵𝐵 tiu ...........................................  (1) 

(iii) ,izfuk; .....................................  (2) 

(iv) nrq;Fj;J - 𝐴𝐴𝐶𝐶 = 6.2 𝑐𝑐𝑐𝑐 

(v) ruptfk; 

gug;G =  �7+12
2
� × 6.2 ................  (2) 

 = 19 × 3.1 

 = 598 𝑐𝑐𝑐𝑐2 .........................  (2) 
11) (a)  

(i)  26 .........................................................  (1) 

 8 ...........................................................  (2) 

 4 ...........................................................  (1) 

 42 .........................................................  (2) 

 

 

(ii) fj;jpugapuplhjtu;fs; = 80 × 15
100

 

 = 12 ...............................................................................  (1) 

 4Ngu;   .........................................................................................  (1) 

(iii) 42 + 8 = 50 Ngu;............................................................................................................  (2) 

(b) 𝑛𝑛(𝐵𝐵) = 2×6
3
 = 4 

 𝑛𝑛(𝐴𝐴) + 𝑛𝑛(𝐵𝐵) − 𝑛𝑛(𝐴𝐴 ∩ 𝐵𝐵) = 𝑛𝑛(𝐴𝐴 ∪ 𝐵𝐵) 

 6 + 4 − 3 = 𝑛𝑛(𝐴𝐴 ∪ 𝐵𝐵) 

 7 = 𝑛𝑛(𝐴𝐴 ∪ 𝐵𝐵)  ……………………………………… (1) 

12) (a)  

 

(i) 60 × 2
3

= 40𝑘𝑘𝑐𝑐/ℎ  ………………………………………………………….  (1) 

(ii) 𝑃𝑃𝑃𝑃 = 60𝑡𝑡 𝑘𝑘𝑐𝑐     …………………………………………………………… (2) 

(iii) 𝑃𝑃𝑃𝑃 = 40(𝑡𝑡 + 1)𝑘𝑘𝑐𝑐   ………………………………………………………..  (2) 

(iv) 60𝑡𝑡 = 40𝑡𝑡 + 40 

20𝑡𝑡 = 40 

    𝑡𝑡 = 2 ℎ 

𝑃𝑃𝑃𝑃 = 60 × 2 

 = 120 𝑘𝑘𝑐𝑐  ………………………………………………………………   (3) 

(b) 65.44    ………………………………………………………………………   (2) 

𝟐𝟐𝟔𝟔 𝟒𝟒𝟐𝟐 𝟖𝟖 

𝜺𝜺 (𝟖𝟖𝟎𝟎) 

kpsfha; 
fj;jup 

𝑃𝑃 𝑃𝑃 

𝑲𝑲 𝑨𝑨 

𝑳𝑳 𝑴𝑴 𝑩𝑩 

𝟔𝟔.𝟓𝟓 𝒄𝒄𝒄𝒄 

𝟕𝟕𝟓𝟓° 

𝟓𝟓 𝒄𝒄𝒄𝒄 𝐶𝐶 

4 
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